Vo, SN

-
-

O

VERY IMPORTANT ! Read and understand all directions and check the following parts list before starting

STREET SCENE EQUIPMENT,INC.

365 McCormick Avenue
Costa Mesa, Ca. 92626
Phone (714) 426-0590 Fax (714) 426-0591

INSTALLATION INSTRUCTIONS

950-77103 SATIN FINISH

&

950-78103 CHROME FINISH
URETHANE VALANCE
SPEED GRILLE
88 - 98 CHEVY
&

GMC CK TRUCK

installation.
PARTS LIST
1 Speed Grille Section 1 Instruction Sheet 4 Attaching Clips # 71098
4 1/4" Flat Washers 1 Street Scene Emblem 2 1/4"- 20 X 1" Bolts
2 1/4 - 20 Lock Nuts 1 Got Street Scene Decal
TOOL LIST |

1/4" Drive Ratchet, 7/16" Socket, 7/16" Wrench, Safety Glasses

Note: Install SSE 950-70103 valance FIRST before installing the SSE "Speed Grille"

N

o g A~ W

Before beginning installation be sure to wear proper eye protection.
Remove the two bolts attaching the SSE valance to the bumper at each end of the insert
opening. Leave the center bolt in.

Remove the "Speed Grille" from it's package.
Looking at the inside of the "Speed Grille", you will see the grille marked at two locations.
Slide the grille into the opening with the marked (short side) facing up.

Attach the "Speed Grille" with the two 1/4" fasteners provided. Use a washer between the
bolt and grille, and a washer and lock nut at the bumper underside.
Tighten securely

Attach the lower side of the "Speed Grille" with the four clips provided.

GRILLE SHELL [

(TOP)

IIIII
I|I

SPEED GRILI H BARBS ON CLIP SHOULD GRAB ONTO LOOP OF SPEED GRILLE

B I\%I-'R-'I: | AND GRAB ONTO GRILLE SHELL ON OPPOSITE SIDE

Nak III
11
||

PUSH CLIP ON

GRILLE SHELL E

(BOTTOM)

<_

CUT AWAY SIDE VIEW OF TYPICAL CLIP INSTALLATION
(CLIP SIZE MAY VARY BETWEEN APPLICATIONS)

THE SPEED GRILLE™ may be covered by one or more of the following U.S. Patents: D427,119,D0425,834,D421,585,D420,

961,D420,960,D420,959, and D420,958 may be covered by one or more pending U.S. Patent applications.
| 6/11/01 SSE 950-77103 & 78103




	Sheet1

